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5.1 FREHETEEEME

5.1.1 ZpIiEk

TERE Y 9 55 () 1 B v, A SR R R AT N AR AR B AR AT I A — B A
TR A 2 n] S8 AN PR 5-1 F 7S 5 — A TR B o AT H /NS

5.1.2 HHRSIA

BRRFREFAFZENST S, £ CEh B8R8M5A 2%, I3k 5-1 P,
®51 BEH

%l BHEA v KX

AT i 3 57 A 28 7 A 48 1 IO 524 o
+ WHZ32 AT AR 74T B I 3 — AT | R R L 1R MRS 2
BN T3 — A FAT AR B

imEn TR B 2
o | iR ER WAL 1« PR {2
RARERE T R YE T
| R RS B WA BT 1 B R 2

| O 1 YT R YT

e & T —y T

~ B — A B o BUR ~FR AR R
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5%
* W | BAN W Lk
R AHES AT A Y ETSESTTTE
= R HES TS T ETEETYETS
i S RE ARG ATRET A P 1 >— B AR H 2
P S NSy R N BB 1 <— (8 2
— = ek R A Y E—
R R P 11 — B 2
G kA L MR | L
S bhiE R 2o | R 1 SRR 2. B if‘7ﬁwylﬁ*ﬁ
e AT 3 A RS A
AL T TR =B fE R 2
BT | XA 5 WP AL 10.8 BRIFHL 2
i | P B R R T 2 i YTy ETE
R RO T T
BRFEHA | O | AFb A A b B 5 0B 560 R Bl B
W T A T U 0 B 4 o 0 A 5 . B
L SE L — B R 1 B
e 2
- ELE R — R 1 B
e 2
A - ii?%:ﬁﬁﬁl*ﬁ
-~ G — B 1/
4 2
— L — P {10 B
Ai

TEs 2

1. EREEH
AARBAS T BB REARBE . CH B ARBHAT R B b i8R 5472

TRAARLAY

int iresult, irem;

double dresult, drem;

iresult = 10/3;

irem=10% 3;

dresult =10.0/3.0;
drem=10.0%3.0;
Console. WriteLine("10/3 = {0}\t10% 3 = {1}", iresult, irem);

Console. WriteLine("10.0/3.0={0}\t10.0%3.0= {1}",dresult,drem);

TR 7 1 d s 25 A 1 5-2 B
RRIR I AR GZ AT .
+ 4+ A B EAT .
—— R B WS AT
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10/3=3 10%3=1
10. 0/3. 0=3. 33333333333333 10. 0%3. 0=1

52 BMEFBCRE

YERT . 2SS BOE A S8 1 83 b 1,
i,

x=x+1;
A PAREE

+x; /i G A X
i

xt+; /R

WA 3 B S AT TE B B4R VR BT T I, C K 7 IROTS 4 R B (R AT B

SR S (B
U0 2R SEAT A AR RO 5 T C 2 R SR R R R O (8 AR5 EAT A S B A sl 5

x=8;

y=ttx;

TEX BB T o x My BER(E R 9.
fHR, R RIS T .

x=8;

y = xt+;

WAy BKAE D 8. x WA N 9.

int x=5;

inty=x——;

Console. WriteLine("y= {0}",vy);
y= o x

Console. WriteLine("y = {0}",vy);

BATER A 5-3 Fis,

[ 5-3 BEBCREC
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int Vall =2;

int Val2 =3;

Console. WriteLine("Vall * Val2 = {0}",Vall % Val2);
Console. WriteLine("Vall/Val2 = {0}",Vall/Val2);
Console. WriteLine("Vall % Val2 = {0}",Vall % Val2);
Console. WriteLine(++Vall);

Console. WriteLine( —— Val2);

Console. WriteLine(Vall++);

(

Console. WriteLine(Val2 ——);

BT R WMAE 5-4 s,

BEEL .
Vall * Val2 =6
Vall / Val2 =0
Vall % Val2 =2
3

2
3
2

5-4 BIFHCRKE (=)

FE: A RRAZE.ARATFERREAX Hln . 5++R——(xFy 2

R R

2. MEEZEERF

WA 12 B4 T T — A B W 7 — A2 o T (B 5 VR AR 109 2 B b U — A2 o, IR

(ELA5 22— A8 (14 B A7 A A 5 45 78 B AT 25 8] o

int x=8;

xX=x*x;

AT LI IR U (BT i &2 MR i AT T 78 i, X A2 5 TRz B A5 A 3 9 3R 38 5

SN — D BIRS iz 5 .

int a=8,b=3;
a% =bx2-5; /*HM T a% =(bx2-5), BE5a=a%(b*x2-5)2%MM. x/

Xt Az i ] DL AT i S MKAE . AN

int z = 3;

x=y=z; /1M F x=(y=12).

3. XRIBEH
KARBAATH T AR RN R RIBR LR AR True H2 False,
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bool a='a'<'b'; //a W{E R True
a=3+6>5-2 //a W{E N True
using Systenm;

class Count

{

static void Main(){

int a=50;

int x = 30;

int y=60;

int b;

b=x+ty;

bool j;

j=a==Db—40;

Console. WritelLine("a=b is{0}
}

}

"

232

REFFIBAT IR A R AN A 5-5 R .

&t file:///I:/%/Hell¥ordl/Hell¥ordl/bin/D. . . [H[=]E]

K 5-5 RRFHCERE (D

4. BEEHEH

I T T RN /R AE Z R 2 3 OC R L 2 s B a5 R 2 A IR 2R,

WHRAE (D BRI R E B R R,

EH5 &) HAMANBEXNZHE N True, 5B AN True; HEH P AH — I
False, 25 S5 & False,

D REWDNBREXNZHE — D& True, 258N True, RA WA KN
False, 25 57 4 False,

M LA E SR A AT UAR J5 5 b A 2 s AT O R R A AR R k.,
il

=

x> y&&x >0

an 2R R kb [R] AR 2 2 B s AT IR A2 B AR B AL e S d s 2 B S RO SE
w2, i,

3>2|[1(5-3<6)&&'a'<'b’

5. (IiIZEH
D ~isBEf
O IERIRCR 0 FEH 1,1 Bl o, BN, 6 # kI 2R 7R S 00000110, ~6 () 4h R
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11111001,
2) & B
08.0=0,08.1=0,18.0=0,18&1=1,
i,

7 i ki % 7R 100000111
11 ) — 3 R : 00001011

"&"im B 45 S S 000000011

Hp

7&11 =3

3) [BEL
0l0=0,0]1=1,1]0=1,1]1=1,
Bl ,

7 i — k| % 7R 100000111
11 % — 3 FER : 00001011

"z Y 4 B 000001111

g
7|11 =15
4) “BELF

0"0=0,0"1=1,1"0=1,1"1=0,
fan,

7 1) Z il R : 00000111
11 (W ki 7% : 00001011

AT SE AL 45 SR £ 00001100
i
7711 = 12

5) <<iBHAF
TR A TR AL RS L W FE ARSI A 0 i

7 By ] # R : 00000111
7 << 1 g5 R JE 00001110 (| #E & 14)
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6) >>izn BT
Tk s A, B,

7 B il R 100000111
7>>1 Z5 582 00000011 (+ il 3)

6. ZFHIEHEF
i

PRSI 1o R A R 2 AR R 3

B8 AT A B BT, B S IR R S T T A AR R (EJE True I8 J& False, iR 2 True,
DU 25 T Ve R 2 AOME s Sl False, WI(E 25 T H#RAE%C 3 B91HE .
1 4n

AR "6>8715+a:39", 1 F 6> 8 MY(E N False, ff I Ak p9 (i & 39.

7. RfisE A
D AP EEAT (H)
B PIAS T AT B e — i B BT A ds . il

abel -t "efg" //%%% abcefg

"36812" + "3.14" /745 92 368123, 14

2) is IBEAF

s BEMHATHEERAXETIEEMIA, R E, RN True, TN LR N False,
filan,

int k=2;

bool isTest =k is int; //isTest = True

3) sizeof i B4}
sizeof 12 BAF FH T 3R A5 (8 2 BB 72 AT o FH I =39 8. il

int a = sizeof(double) ; //a=8

5.1.3 ZWlszm

1. REI9HH
FIF RN R H KR AR IS 73, ik 0~length-1 B F 455 8 P B F 45 45—
3 Bk char 2884,
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2. KLY

static void Main(string[ ] args)

{

/1€ S W A5 HR RN 5 ) 1) S A £ T AR ek

string strInput, strOutput;

/18R

Console. WriteLine("iFki A — N EE B FELFHE ") ;
/7AW P A A HR

strInput = Console.ReadLine();

Console. WriteLine(" &% AW FfFEE N : {0}", strinput);

/18 RS A N 1 5 v
strOutput = Encrypt(strInput);
/ /% A

Console. WriteLine(" il % 5 i) F 45 H A7 : {0}", strOutput);
Console. ReadKey( ) ;

private static string Encrypt(string strInput)

{

/178 LA 78

string strFont, / /T T A R
strEnd; /145 B W) 7 45F

string strOutput; /155 R F 55 H

char[ ] charFont; e T e

int i, len, intFont;

len = strlInput.Length; [ ARBCFAF BR K B
strFont = strInput.Remove(len — 1, 1);
strEnd = strInput.Remove(0, len — 1);
charFont = strFont.ToCharArray(); //#BRi/a — T4 Z HM 0 F 45 H e
WEZ i &
for (i = 0; i< strFont.Length; it++)
{
intFont = (int)charFont[i] + 3; /15— FRF 5 R int 28RN 3

charFont[i1] = Convert.ToChar(intFont); //¥/il 3 ZJ5 H int 288 B F 45
L TS i
}

strFont =

/RN 5 B BR R S — A A Z A B A E B R

for (i = 0; i< charFont.Length; i++)

{

o,
’

strFont += charFont[i];

}
strOutput = strEnd + strFont; st e
return strOutput;
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i

W

5

3. BITER
Rt R AN 5-6 Prs .

fSEB\Exa mDQDQ\C onsoleAppT\bm\Debu g\C onsole:\pp1 exe

Bl 5-6 AR E (HD

5.2 EHESRE R ITERS

5.2.1 EpHIE

TEFEFE 4 5 Y FE b B SR T A5 2R B B 2 B TR, C# S h iz 5
o [ R S A e 5 AN BT 5-7 i s B — A T SRR T B /N SR A

ERNE—
20

R =N
i

EREES: 1.+ 2.- 3.x 4.+ 5%
2
20-7=13

B 5-7  EplEsE

5.2.2 HRsIA

Tk RUZ B AT W AR B SRS T

1. BERRER

AR FR kU B AR B S APH 2 50 458 Bk 75 G ik o i X7 .

F 1 3a AR A s A SR 20N & T AR B A . BN, Kk 8 x++
AREHEEE 8+ (x++) . W x MIFE(EZE 6, M FRIEX 8+x++MEE 14, B8R HE x
AR A 7,
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2. MEREKX
P (B A2 A0 8 A v R 3 3k Qo 4 R ) X PR o R ik X, i

y=x=8%8+3 //x=8%8+3;y=x

XAME RSB ERE 67, i TRESHEANSGSEZEAARLEMN L y=x=8 *
843 Fll y=(x=8 * 8+3) LMY,

3. X&5FiEHX

MR RIZEFFIE AN RSB GEEE RN F AL RREL, XRRBLWE LMK
JAL, B K (True) 8 { (False) . f#l4n,

x=8;
y=6;
z=x>y+3; //55 38K false
a=x>y&&z; //45 8k false

4. BERIER

P2 58 AT 6 R R B U 2 A R R U7 Ak oy R R AL, B R B
A R BEEL true ¥ false,

SABRIZEHEMAWBHEIT A ZHAE K&, HRE“ZBRE”, &5 W BRI,
il 4

1(3>6)|](5<8)&&(2>=9)||(7>=1)

5. FHRERX
H1 2% A B AT M2k XA i X7 Ak 2 Rk 50, i,

8>375:2;

HEE R R 5,8 8>3 4 true, M & ASF kA« a1 R A X ME . X H2HE 5. B
L, B,

int 1=0;
bool result = false

result = (++1) + i == 2?true:false;

A5 result f{E R %707

FE AZK ittt REA,

RS brisFh A 2N BRNS 55 X M ZHEE . S 45 & 1
B, CE ARSI 5-2 PR,
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x52 MEZMEEH

% % @ B m E B A 4 &t
| 5 O W5
; I WG S ry— Wt 5

R BN x
3 T / WA
BURLE 54 %
I S A n
! Wik i - s
NTF <
- NF AT <=
5 KT > WA E A
KFRET >=
5T -
6 o !: W
7 T B VG
5 T I WAE
0 W11 54 A1 4 PR WA

5.2.3 ZWIsEH

1. BHIDH

(1) i Bt 548 B Je 7 B AN B 54

(2) TE5 AZ R, 75 2R WS FAOR 2 int 880, FIWT R A M A7 B2 int 28
AL, A FHFG A5y int 28RV = A5 R A SRR G

(3) iy N iz BE 2 5 B A 7 — I8 B84

(4) HIBEBE B85 F 4 s 5 Rk 0T E s 8 g

2. Ry

static void Main(string[ ] args)
{
/155 AN — 1 H
Console. WriteLine("ig i ASE—1%:");
string numl = Console.ReadLine();
/74555 F W s A B 3X A B 5 R B R, A0 SRS S R R, i R B — R
/12 BAE#AT T iS4
int numberl = CheckNum(numl);
/1965 N5 A K
Console. WriteLine( "3 % ASH =A%) ;
string num2 = Console.ReadLine();
int number2 = CheckNum(num2);
/BB B
Console. WriteLine( "I ik iz & 4F:1. + 2. — 3.x 4.+ 5.%");
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yun = "&";
break;
default:

Console. WriteLine("if ®EH L") ;
string str = Console.ReadLine();
GetResult(str, numl, num2);
return;

}

Console. WriteLine("{0}{3}{1} ={2}", numl, num2, res, yun);

3.
EONH s T4 R 5-8 Fis .

[ TCAUsers\Adr
S

THHIANE AN

56

EEBREES: 1.+ 2.- 3.x 4.~ 5%
1

8+56=64

K 5-8 R E

KENG

AEMFEENEARZXG2HAF . WHARJLM 2R EAEREERONA. £
Fei I A R s B AT S OB B A AT, AT WL B, W BN R AR E
FF R B AT R RIBRAT Z Bz AT s AT DL — BERR R A as AT . [R5
B [l is SR AT I s AT B L e 9 IR s AR B N



